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L6(9.1) - The Intersection of Lines in R3, R

A linear system of two (or more) equations is said to be
CONSISTENT if it has at least one solution, otherwise it is
INCONSISTENT.

A linear system may have:

a) No solutions: - the lines do not intersect
- the lines are parallel & distinct (in same plane)
- the lines may be skew: they are not parallel,
but they do not intersect because they lie in
different planes

b) 1 Unique solution: - the lines cross at one point
- the angle between two lines is calculated

using the dot product between two direction
vectors

c) Infinite solutions: - the lines arecoincident
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Ex1:Solve the following system and describe the geometric
relationship between the lines.
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